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Datasets and cuts

Prompt Jpsi, Psi2S: Event selection:
LHC24d4a: anchored to pass6 data |VtxZ| < 10 cm

» Track selection:

pT > 1 GeV/c

In| < 0.9

TPCncls > 90

TPCchi2 < 4

ITSncls > 2

At least one hit on the first 2 layers

Non-prompt Jpsi, Psi2S:
LHC24d4b: anchored to pass6 data
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jira: https://its.cern.ch/jira/browse/02-4849

—2 < TPCno, <3
TPCnap > 3

TPCno,; > 3
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improve the DCA calculation.
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Prompt/non-prompt J/{

i —e— Ac

2.6 }'""AS?SUC"J)‘Q';'prorript'f"nuﬁ:prumi)t----------'"'" _ Assoc correct Jhp promptl non prompt+ TPSC 'C P—
—-a.—- ITs-TP matc lng

i DC
+ PID
—4— Total :

1.6

C | ¢ ITS- TF-’C matchlng
.......... ‘A.t:A‘A,DC AA
i ‘ 4 PID :

+ ITS- TPC m_tchmg
i DCA

€prompt / €non-prompt
€prompt / €on-prompt
eprompt / Er1on-prr:wmpt

i

1.2 b N— SR— — e

1.4

1.2

ﬁl
+
Gy
B
45- &
o &

=1 1 1 { L1 1 I L1 | I L1 | I 11 1 I I I 11 1 I 11 1 I L1 1 ! L1 |
18 20 2 4 6 8 10 12 14 16 18 20 0 2 4 6 8 10 12 14 16 18 20
P, (GeVic) P, (GeV/c) P, (GeV/c)

I\IillliIllillli\llilllill\illlilllilll llli\lliI\lil\lill\illlilllilllilllilll

0 2 4 6 8 10 12 14 16

o

» The ratio of efficiency for prompt and non-prompt J/{ are different without reassociation.
» After the reassociation, the ratio is similar. But after removing the ambiguous pairs, the difference increase.
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Non-prompt P(2S
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Prompt/non-prompt Y(2S)
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» The ratio of efficiency for prompt and non-prompt {(2S) are different without reassociation.
» After the reassociation, the ratio is similar. But after removing the ambiguous pairs, the difference increase.
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Tracks check
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» There are some tracks with large track time and time resolution.
» The time resolution divide into a few parts.
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Tracks checks
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» DCAxy distribution is narrowed after association.
> DCAz distribution is centered after association.



Norm. Counts

Norm. Counts

TPC (nolTS) tracks
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TPC (nolTS) tracks
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> DCA distribution is wide for TPC tracks.
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TPC-TOF (nolTS) tracks
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> The time resolution for TPC-TOF tracks are near zero.
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TPC-TOF (nolTS) tracks
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Summary

» The influence of track-collision reassociation is studied in prompt and non-prompt
J/P and (2S)

» After the reassociation, the efficiency for prompt and non-prompt J/{ are different, because of the
removing of ambiguous pairs.

» The efficiency ratio of {(2S) and J/ are different for prompt and non-prompt. The association will not
influence the ratio too much.

» Further checks are needed to understand the performance of tracks w and w/o
association.




Back up

|2} = B -
§ - g —4— Prompt w assoc § = e —¢— Prompt w assoc
B 0]
(é 107 8 —4— Prompt w/o assoc (é - . —— Prompt w/o assoc
= , = ﬁ —¢— Nonprompt w assoc 2 107 —4— Nonprompt w assoc
10_ = L1y — Q
= —é— Nonprompt w/o assoq [ - # Nonprompt w/o assoq
- - [
-3 &
10 = 102 — oo
- = #
10" N o
10° 107
10°°
10 o9
10_7 El | 1 1 1 1 | 11 1 | | 1 1 1 | 1 1 Igl 11 1 | | 111 1 | | I | L1 1 1
-2 -1.5 -1 -0.5 0 0.5 1 1.5 2 -4 -3 -2 -1 0 1 2 3 4
DCA,, (cm) DCA, (cm)

ITS-TPC matched, all assoc



